Managerial Accounting

Actg. 131 –Fall 2006
Quiz II (25 Points)

Part I (12 Points)

The Stephens Leadership Center provides training seminars in personal development and time management.  The company is relatively new and management is seeking information regarding the Center’s cost structure.  The following information has been gathered since the inception of the business in January of the current year:

Month

Seminars Offered

Costs Incurred
January

10


$17,000

February

12


  18,800

March


15


  20,900

April


18


  23,762

May


16


  21,800

June


13


  19,400

Requirements:

Using the high-low method, estimate the variable cost per seminar and the total fixed cost per month.

If you were asked to use the scatter graph method and/or the least squares regression method in the above requirement, would you have more accurate numbers, yes or not and why?  (Answer both methods separately)
Scatter graph method

Least squares regression method

Iacono Corporation is a wholesaler that sells a single product.  Management has provided the following cost data for two levels (high-low) of monthly sales volume.  The company sells the product for $127.20 per unit.  

Sales volume (units)




5,000


6,000

Cost of Goods Sold




$419,000

$502,800

Selling and Administrative costs


  186,500

  202,200

The best estimate of the total contribution margin when 5,300 units are sold is:

a. $230,020

b. $ 51,410

c.  146,810

d.    32,330

The Bronco Birdfeed Company reported the following information:
Sales (400 cases)


$100,000

Variable expenses


    60,000
Contribution margin


    40,000

Fixed expenses


    35,000

Net operating income


$   5,000

How much will the sale of one additional case add to Bronco’s net operating income?

a. $250.00

b. $100.00

c. $150.00

d. $12.50

Part II (13 Points)

Sandy Goode, president of SG Enterprises, a merchandising business, has given you the following information for the first year of operations ending September 30, 2006, based on 10,000 units produced and sold:

Sales revenue




$250,000

Cost of goods sold



  150,000
Gross margin




  100,000

Operating Expenses:

  Salaries and commissions
    42,000

  Utilities


    11,200

  Rent



    13,300

  Advertising


    23,000
  Total operating expenses


   89,500
Net Operating Income




$ 10,500

SG sells one product, an exercise glove, at $25 per pair.  Cost of goods sold is a variable cost.  Also, there is a 10% sales commission (10% of sales revenue) included in salaries and commissions is the only other variable cost.  Goode needs some information such as breakeven point and prices that will achieve a certain target profit.

Required:

It is not necessary for you to redo the income statement in a different format.  You may wish to use the following formula to complete the following questions.  Also, I would suggest that you set up the table with the SP/U – VC/U = CM/U:  Remember that Variable Cost (VC) per unit represents all variable costs.


PROFIT = CM/UQ - TFC

1. Determine the break-even point in units:  
2.
Determine the break-even in sales dollars:
Dodero Company produces a single product which sells for $100 per unit.  Fixed expenses total $12,000 per month, and variable expenses are $60 per unit.  The company’s sales average 500 units per month.  Which of the following statements is correct?
a. The company’s break-even point is $12,000 per month

b. The fixed expenses remain constant at $24 per unit for any activity level within the relevant range.

c. The company’s contribution margin is 40%.

d. Responses a, b, and c are all correct.

Data concerning Kardas Corporation’s single product appear below:






Per Unit
Percentage of Sales


Selling price


 $140


100%

Variable expenses

     28


  20%

Contribution margin

   112


  80%

The company is currently selling 8,000 units per month.  Fixed expenses are $719,000 per month.  The marketing manager believes that a $20,000 increase in the monthly advertising budget would result in a 180 unit increase in monthly sales.  What should be the overall effect on the company’s net operating income of this change?

a. decrease of $160

b. increase of $20,160

c. decrease of $20,000

d. increase of $160

Product Y sells for $15 per unit and has related variable expenses of $9 per unit.  Fixed expenses total $300,000 per year.  How many units of Product Y must be sold each year to yield an annual profit of $90,000?
a. 50,000 units

b. 65,000 units

c. 15,000 units

d. 43,333 units

Part III (10 Points)

Aaker Company, which has only one product, has provided the following data concerning its most recent month of operations:

Selling price






$99

Units in beginning inventory




   0

Units produced





6,300

Units sold






6,000

Units in ending inventory




   300

Variable costs per unit:


DM






$12


DL






  42


Variable MOH




    6


Variable Sell & Admin.



    6

Fixed costs:


Fixed MOH





$126,000


Fixed Sell & Admin.




    24,000

1. What is the unit product cost for the month under variable costing?

2. What is the unit product cost for the month under absorption costing?

3.
What is the total period cost for the month under variable costing approach?

4.
Aaker’s net operating income under variable costing is $48,000.  Determine what the net operating income would be under absorption costing?

1.
During the last year, Moore Company’s variable manufacturing costs (DM, DL, & Var. MOH) totaled $10,000 and its fixed manufacturing overhead costs totaled $6,800.  The company manufactured 5,000 units and sold 4,600 units.  There were no units in the beginning inventory.  
Net operating income under variable costing approach will be higher or lower and by how much compared to absorption costing approach?
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Randall Company is a merchandise company that sells a single product.  The company’s purchase of inventories and sales in units for the next three months has been forecasted as follows:





October
November
December
Sales



60,000

70,000

40,000

Merchandise inventory
60,000

70,000

35,000

Units are sold for $12 each.  One fourth of all sales are paid for in the month of sales and the balance is paid in the following month.  Accounts receivable at September 30 totaled $450,000.

Merchandise is purchased for $7 per unit.  Half of the purchases are paid for in the month of the purchase and the remainder is paid in the month following purchase.  Accounts payable at September 30 totaled $175,000.
Requirements:

1. Prepare a schedule of cash collections from sales for the three months ending December 31 in the space provided on the next page.
2. Prepare a schedule of cash disbursements for the purchase of merchandise inventory for the three months ending December 31 in the space provided on the next page. 

Cash collection schedule







Cash disbursements schedule

Part II (6 points)

The Litton Company has established the following standards per unit as follows:





Quantity
Price/Rate
Cost per Unit
Direct material

3 lbs. 
x   
$4/lb. 

=  $12 
Direct labor


2 hrs. 
x   
$8/hr. 

=  $16 

Variable manuf. OH

2 hrs. 
x   
$5/hr. 

=  $10 


Total Cost per unit




    $38 

Actual production figures for the past year are given below.  The company records the materials price variance when material is purchased.


Units produced



600


Direct material used



2,000 lbs.


Direct material purhcased (3,000 lbs.)
$11,400


Direct labor cost (1,100 hrs)


$  9,240


Variable manuf. OH incurred


$ 5, 720

Determine the six variances related to Direct material, Direct labor, and Variable

Manuf. OH.

MPV 
= 
AQ (AP – SP)
MQV
=
SP( AQ – STD.QTY. ALLOWED)

LRV
=
AHRS .(AR – SR)

LEV
=
SR (AHRS. – STD. HRS. ALLOWED)

VOHSV=
AHRS. (AR – SR)

VOHEV=
SR (AHRS. – STD. HRS. ALLOWED)

Part III (7 points)

Circle the best answer:

Rumberger, Inc. sells two products:  X and Y.  Data concerning the company for July follow:





Product X
Product Y
Product Z
Sales



$200,000
$300,000
$100,000
Variable expenses

    50,000
  100,000
    60,000
Traceable fixed expenses
    80,000
  150,000
    20,000
In addition, there were common fixed expenses of $ 70,000 in July.

What was the segment margin for Product X?  
By how much would the net operating income of the company as a whole change, if Product Y increased its sales by $50,000?

If a decision were made to drop Product Z and all the data relative to Products X and Y remained constant, what would the effect be on the company’s Net operating income?
If the company had $5,000 dollars to spend on advertising for just one of the Products X, Y, or Z, for the month of June, which product should get the money if the impact on sales would be the same for any of the three products, an increase $10,000? 
Use the following data to answer the next three questions:

The Reed Division reports the following operating data for the past two years:







Year 1

Year 2
Margin





16%

    ?

Turnover




  2.5

    2

Average operating assets


    ?

$150,000

Net operating income



$40,000
     ?

Stockhholder’s Equity



$80,000
$125,000

Sales





    ?       
     ?

The return on investment (ROI) at Reed was exactly the same in Year 1 and Year 2.

1. The margin in Year 2 was ___________________.

2. Sales in Year 2 amounted to ____________________.

3. Average operating assets in Year 1 were ___________________.

Given the following data:


Average operating assets
$300,000


Stockholder’s equity

    50,000


Sales



 900,000


Net operating income

   75,000


Minimum required return
       18%

The company’s residual income would be:  a)  $25,000;  b)  $15,000;  c)  $21,000;  or d)  $75000.

Transfer Pricing

Fyodor Corporation has a Parts Division that does work for other Divisions in the company as well as outside customers.  The company’s Machine Division has asked the Parts Division to provide it with 8,000 special parts each year.  The special parts would require $19.00 per unit in variable production costs.
The Machine Division has a bid from an outside supplier for the special at $27.00 per unit.  In order to have time and space to produce the special part, the Parts Division would have to cut back production of another part – the QR4 that it presently is producing.  The QR4 sells for $34.00 per unit, and requires $18.00 per unit in variable production costs.  Packaging and shipping costs of the QR4 are $2.00 per unit.  Packaging and shipping for the new special part would be only $.50 per u nit.  The Parts Division is now producing and selling 40,000 units of the QR4 each year.  Production and sales of the QR4 would drop by 5% if the new special part is produced for the Machine Division.
Requirement:

1. What is the lowest price that Parts Division would accept?

2. What is the highest price that Machine Division would accept?

3. Is it in the best interest of Fyodor Corporation for this transfer to take place?
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At a sales volume of 40,000 units, Lonnie Company’s total fixed costs are $40,000 and 
total variable costs are $60,000.  

If Lonnie were to sell 42,000 units, the total fixed cost would be?

What would the total variable cost be?

 Cory Company produces refrigerators.  Each refrigerator contains a small thermostat that costs $5.  During June, 600 thermostats were drawn from the supply room and installed in refrigerators that were in the production process.  Seventy (70) percent of these units were completed and transferred into finished goods warehouse.  Of the units completed, twenty (20) percent were still unsold at the end of the month.  There were no beginning inventories in raw material, WIP, or finished goods.

The cost of the thermostats in work in process (WIP) at the end of the month would be?

The cost of thermostats in cost of goods sold would be?

During the month of May, Cassidy Manufacturers incurred $30,000, $40,000, and $20,000 of direct material (raw material used), direct labor, and manufacturing overhead costs respectfully.  If the cost of goods manufactured was $95,000 and the ending work in process (WIP) inventory was $15,000, the beginning inventory WIP must have been?

Part II  (10 Points)

The following partially completed T-accounts summarizes last year’s transactions for Kelshaw Company:

As briefly as possible describe the following transaction from the above T-accounts:

Item (a) under Raw Material



Item (b) under Work In Process


Item (f) under Manufacturing OH

Item (g) under Work In Process

Item (h) under Finished Goods

Part III  (5 Points)  Circle the best answer.
1.
Salary paid to the maintenance supervisor in a manufacturing plant is an example of:




Product Cost

Manufacturing Overhead

a.


No


Yes

b.


Yes


No

c.


Yes


Yes

d.


No


No

2.
Which of the following would most likely be included as part of manufacturing

 overhead in the production of a wooden table?

a. The amount paid to the individual who stains the table.

b. The commission paid to the salesperson who sold the table.

c. The cost of glue used in the table.

d. The cost of wood used in the table.

3. The cost of the factory machine that was purchased last year is:

a. An opportunity cost.

b. A different cost.

c. A direct material cost.

d. A sunk cost.

4. Which of the following costs is considered a variable cost:

a. President’s annual salary of $200,000.

b. Rent of the factory building of $5,000 per month.

c. Straight-line depreciation of factory building of $1,000 per month.

d. Cost of the plastic is $2.00 per pound.

5. If actual Manufacturing Overhead was $215,000 and the applied Manufacturing Overhead was $225,000, was the applied over or under applied _______________.  

How would the entry to adjust the over or under applied overhead be made directly to cost of goods sold

a. Debit - cost of goods sold

c.
Debit – manufacturing OH
Credit – manufacturing OH

Credit – cost of goods sold
b. Debit – WIP


d.
Debit – manufacturing OH
Credit – manufacturing OH

Credit - WIP
